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i2=-1,(1,®, ®?) are the cubic roots of one .

i, T , K)is aright set of unit vectors .
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@ The number of ways of selecting a team of | 51 31 V 0§ 5s 325 Jlasl 3,k sue
7 members out of 9 girls and 5 boys, if the 5B O3 Y 0wl 4

team has 3 boys only equals ...... Loas oyl v e S5
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@The value of : *°C, + 26: STRA a2 o
=1 3 Ry Lot des
V=
equals ...................
q ............ gsj\.mi
@ 56c4 @ 56C2 Yuo'l iuo'\
55 55 00 00
@ Cy @ C3 ‘,U id
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@If x> +y*4+22—2x+4y =0 s eslST 13|
is the equation of a sphere of center C Ao =t e V=T e T
and radius 1, then ............ < ¢ LajS e 8,8 Aslae oo

............. OB ¥ Lo, lad Lo Jsbo
@ ¢ (1,-2,0),r = V5 unit by o v =g (LT =)t (D)
® ¢ (~1,2,0),r =5 unit by o v =12 ¢ (Lo YO o)t (@
@ C(1,-2,0),r = 5units Oldg0 =12 ¢« (Lo Y—cV)¢ @
@ ¢ (-1,2,0),r = 5units D30 =12 ¢« (Lo YA -) 0 (3)
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@Answer only one of the following two questions: 13038 el LI G 3| Aol e i

8
Al : A .
A) put the number Z = o3 I the ———— = \ = & saall aua ()

apde dagl @3 A1) gl B
iV By 5l B e )
L £ 3 AN skl U (L)

trigonometric form, then find its two

square roots in the exponential form.

B) Solve the following equation in C:
(x=1)°-9(x—-1)34+8=0
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@The number of terms in the expansion of : : 3 S| s 9u sue
after reductionis ............ | o Ll i

@ 1010 (® 1009 Y@ v (D
©) 2020 @ 2019 roa () vy
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then ||AC|| = .. o+ P =T
............... = =Pl ob
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(MDita15 41¢C CZALT SLTs
,B =(2,3,2),C =(1,2,1), (VY )= (Tere)=5
||Z|| = 4+/2,then 4 =... =T

.................. — 7ok

® (2,3,1) (verev)y D
b (—4,0,4) (¢ e ct—) @
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Answer only one of the following two questions: | ,saza o 311 (815 i (e e
A)IfA(0,0,].),B(1,0,0)andC(0,1,0) 13 (\cMcM)PQK\D!(‘()

, find the orthogonal unit vector to the (e o)) o

plane ABC. (S22 eV i) =

SR (83508 B> g Axcte : e gl

B) If the two spheres:

(x+1)? +(@y—4)2+(@z-k)?=25,
(X—3)2 +y2 +(Z—3)2 =\ 6 g‘.’?ﬂ\w\;bl(u)
are externally tangential, find the value of k. | « To="(&-&)+"(¢-09)+ (\+)

V="(r-g) + et (Y- )

EJ 5@.-5-.\‘?}; CJ\"“U'A 'W: \.Q:;ﬁ
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@ If Z = w*, where x is a positive integer, To=¢ oS5 13|

then|Z|=............... 3
b= M > e

............. AR

@1 ® w @) @
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If the direction angles of a straight line P g oSl Ll <o\ 3
are: 0, 0y and 0, , then ¢ 59 « B B
2 ) 29 Sy Y e
sin® 6, +sin® 6, + sin“6, =......... | _&e\eﬂLuﬂeb‘_ﬁLwe\?dp

@ -2 ® -1 - @ v— (D
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@ If O 13
Ll: X

=2t1_1,y= t1+1,Z= tl_]‘ﬂ

o\ -|—\EJ=ué ¢ \—\GJ‘I=U‘:\J

and g
Lyx=at,—1,y=2t,+1,z=>bt, —2 \
are parallel , thena+b =................. TS \_V@P=w:vd ‘
Y—qu=f/
........... =< +PUP«J“’J\}“

of ®:2 @ <0
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15 ,

@In the expansion of G + xz) according to | NGNS 3K B
) £

the ascending powers of x, find the value of | .31 13 wagi Luslad) o ¢ 5

the term free of x, then find the value of x A o Edagi e S

which makes the two middle terms equal. £ y
q o sleits e oY pusd Jasd
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@3)1f 2= (1+3i) and |2] =8, C ST )= 05
then the principal amplitude A=IEl

of the numberZis ...... & oaal) 2l 2 08
............... gb

5 3 O 0
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If the two planes: 3x =y +2z+4 =0 ,
X +2y + kz = 2 are perpendicular,

thenk=...................

£ sl O 13)
¢ o=t EYp o Y
Y_Ff &t vy
............. =& OB poelaie
vO© =0

\ \
v O SN ©)
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@ Without expanding the determinant, s adslaad) S susadl &8 G s

solve the equation:
o o

1 x x .
e = [NV
x 1 x| =0
RS SRS
x x 1
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Prove that the two straight lines:  etans] Ol Cedi

F{ = (3,—1;2)+t1(4r1r3) and (\""\ ¢ i)\C“J—I—(Vc\—cV)=\7

6 =(0’4 ’_1)+t2 (1’_1’2) (V c\—c\)vejﬁ—(\—cicjip):r‘;c

are skew. ol
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Find all the different forms of the equation of | i35\ dalisd) o)) g
the plane passing through the points:

(170>0)3(03290)3(070)3)‘ \

¢ (J.:L,acv‘_).b.,a) ¢ (Wcji,ac\)

(V¢ y0 ¢ ya0)
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Investigate the possibility of solving the
following system and find the general form

(5)

of the solution (if it exists).

2 —4 -9\ x
(43 9)0)-
-3 6 9 z

i sl o SY Pl > LG oyt

(323 0f) $ 1 o
\ o - g ¥
22 | =1 e L R
\- & Ty

r19/0+1A Joll joaJl - G=alpoll Aulhhl) A A i



YoV Y0 VA pal 5ul8f platt - J 981 59t - (g ot W1 AAUILY) Ayl Auigh g it - kbl Ay 30501 Ayl AL Bl Gl

r19/0-1A Joll joaJl - A=alpoll Aulhhl) A A uj



